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General Instructions to Candidates :

l

l

l

l

l

l

l

l

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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Answer all questions from  1 to 7.

Each carry one score.

1.

2.

3.

1 oOf¤ 7 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. 1 yVSWL¡ v}fU.

1. fLRu j¤W]p]q]¨OÐ A¨Tº]UYV

v]vq°¥ DkSpLY]¨OÐvq]¤

j]ÐOU Svr]ŸO j]¤¨OÐfV

WRº¾OW.

oLSj^¡oL¡

RNWc]SãuVyV

j]WOf] Ai]WLq]W¥

RfLu]sLt] yUZajW¥

2. yUwpLyVkh Wa¾]jOtt WqOf¤

yPƒ]¨OÐfV JfV A¨Tº]UYV

Bwp NkWLqoLeV?

W¦y]ð¢y] BwpU

W¦y¡Rvã]yU BwpU

Roã}q]pLs]ã] BwpU

KmV^WVa]v]ã] BwpU

3. " NkLgo]W SqXRÕa¾¤ mO¨V'

JfV?

W|LxVmO V̈

Ryp]¤yV mO¨V

k¡S\ÿyV mO¨V

CvRpsæLU

(7 × 1 = 7) (7 × 1 = 7)
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4.

5.

6.

4. kLyVmO¨V NkWLqoOtt KLv¡

NcLlVãV fOWp]¤ WOrvOºL¨OÐ

CakLaV JfV?

ykæp¡¨V j¤W]p R\¨V

mLË]¤ j]ÐOU keoL¨].

KqO DkSnLWVfLvV mLËV

A¨Tº]Ss¨V Sjq]Ÿ V  keU

Aa\ÿO.

KLv¡NcLlVã]jV ks]w CTaL¨].

CvRpsæLU

5. j¤W]p]ŸOttvp]¤ wq]pLp vLW|U

JfV?

sLnU v}f]\ÿOj¤WsLeV

RNkLv]x¢.

r]y¡vÿ V IsæL m]y]jyOW

¥¨OU j]¡mjVioLeV.

m]y]jy]jV jxVaoLReË]sOU

RNkLv]x¢ oLã]RvpV¨LrOºV.

RcmVSãuVyV W]u]v]jOtt

RNkLv]x¢ W]ŸL¨a¾]R£

jxVaU j]W¾OvLjLeV.

6. KqO v]j]op m]¤ AUY}Wq]\ÿ V

j¤WOÐfV BqV?

RcmVã¡

RNWc]ã¡

SNcLp¡

Skp}
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7. oO¢WP¡ wÒtR¾ We¨]RsaO

¨OÐfV JfV CjoLpLeV?

R\svV

vqOoLjU

ByVf]

mLi|f

8. SWLtU A SWLtU B pOoLp] S\qOU

ka] S\¡¾V IuOfOW.

7.

8. A B

                   A                         B

Sjq]ŸOtt R\svOW¥ aLs]/CIWVyV/yLYV

BRW RcmVSãuVyV A¨TºV s]Nm KLl}yV SmyV/IU.IyV. AWVyyV

A¨Tº]UYV SyLlVãVRvp¡ RNWc]ãV Ryp]¤yV

RIRc¢£]lp¡ WLSq|^V C¢Sv¡cVyV

c].m].IU.IyV. W} BNa]mPŸV

(5 × 1 = 5)
(5 × 1 = 5)
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Answer any four questions from

9 to 13. Each carries two scores.

9.

10.

11.

9 oOf¤ 13  vRqpOtt S\Lh|°t]¤

JRfË]sOU 4 I¹¾]jV D¾qRouOfOW.

2 yVSWL¡ v}fU.

9. f}qOoLj°¥ IaO¨OÐf]jV

DkWLqNkhoLWOÐ, A¨Tº]UYV

v]vq°¥¨V DºLp]q]S¨º

JRfË]sOU jLsV YOeyv]Swx

fW¥ IuOfOW.

10. m]y]jô]¤ DkSpLY]¨OÐf]jLp]

Sðxjr] yLij°¥ vL°OÐfV

ByVf]pLp] We¨]RsaO¨LRf KqO

R\svLp] kq]Ye]¨OÐO.

CfV JfV A¨Tº]UYV Bwp

¾]jV AjOyVk]foLeV?

CT BwpU AjOv¡¾]¨OÐ

f]jV oRãLqO DhLzqeU j¤WOW.

11. j¤W]p]ŸOtt RfãOWt]¤ Nap¤

mLs¢y]¤ v|f]pLjoOºL¨OÐv

oLNfU f]qR´aO¾V IuOfOW.

k¡S\ÿyV r]SŸ¦ mO¨]R£

BRW fOW j]¡¹p]\ÿSÕL¥ 

qPk WPaOfsLeV.

RNWc]ãV Ryp]¤yV  qPk

Ryp]¤yV mO¨]¤ SqXRÕaO

¾]p]Ÿ]sæ.

WaoLp] l¡e]\ÿ¡ vL°]pf]R£

qPk k¡S\ÿyV mO¨]¤

SqXRÕaO¾].

W|LxV mO¨]¤ SqXRÕaO¾]

p]ŸOtt  qPkpORa RqL¨U

ke¾]jOtt v]sVkj Ryp]¤

A¨Tº]Ss¨V kf]¨L¢

v]ŸOSkLp].

(4 × 2 = 8) (4 × 2 = 8)
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12. ^jOvq]& ,  jV  qPk

s]yVãV v]spOtt yLij°¥ 

W]u]v]¤ Ao¤ fR£ CakLaOWLq

jLp RmÐ]¨V WaoLp] v]¤¨OÐO.

ASf h]vyUfRÐ NkyVfOf

fOW¨Ott oPÐO oLy WLsLvi]

pOtt KqO v]j]op m]sæ V  Ao¤

fáLrL¨OÐO. CT m]sæV pgLv]i]

Rm¢ AUY}Wq]\ÿV f]q]\ÿV j¤WOÐO.

Cf]Rj Aa]òLjoL¨] fLRu

krpOÐv WºOk]a]¨OW.

m]¤ fOW.

m]sæ]R£ keU sn]¨OÐ f}pf]

13. oLSj^VRo£V v]vq yNÒhLp

¾]Rs jLsV NkiLj Dk

yNÒhLp°tORa SkqV IuOfOW.

14  oOf¤ 19  vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

14. j¤W]p]q]¨OÐ ByVf]WRt ò]q

ByVf] fLfV¨Ls]W ByVf]

IÐ]vpLp] fqUf]q]R\ÿRufOW.

Rox]jr]

RRWvwoOtt keU

RcmVSãuVyV

m]¤yV r]y]vm]¥

l¡e]\ÿ¡

SoLSŸL¡ vLzj°¥

12.

13.

Answer any five questions from

14 to 19. Each carries three

scores.

14.

(5 × 3 = 15) (5 × 3 = 15)
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15.

16.

17.

18.

15. "S^¡e¤' "RscV^¡' IÐ]v

fÚ]sOtt v|f|Ly°¥ IRÍsæLU?

16. j¤W]p]q]¨OÐ CakLaOWtORa

A¨Tº]UYV yovLW|U

v]Wy]Õ]R\ÿuOfOW.

m]y]jôV BqUn]¨OÐf]jLp]

 qPk keoLpOU 

qPk oPs|oOtt l¡e]\ÿrLpOU

RWLºOvÐO.

yLij°¥ WaoLp] vL°]pfV

 qPk.

 qPk oOa¨Ov]spOtt

yLij°¥ qPkpV¨V

v]ãO.

17. fLRu j¤W]p]q]¨OÐ NkSf|W

S^¡esOWt]¤ CakLaOW¥

SqXRÕaO¾OÐf]jV DkSpLY]¨OÐ

Drv]a SqXWtORa SkqV IuOfOW.

k¡S\ÿpVyV mO¨V

k¡S\ÿpVyV r]SŸ¦ mO¨V

Ryp]¤yV r]SŸ¦ mO V̈

18. KqO Nap¤ mLs¢yV fáLrL¨OÐ

f]R£ sƒ|°¥ v]wh}Wq]¨OW.
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19. Wv]fL SNaScuVy]R£ 

Rs Nap¤ mLs¢y]¤ RcmVSãuVyV

 qPkpOU, W]ŸL¨aU 

qPkpOU D¥RÕŸ]ŸOºV. vL¡x]W

We¨OW¥ fáLrL¨OSÒL¥ Ai]W

W]ŸL¨aU  qPkpOU yUwpL&

yVkh Wa¾]jOtt WqOfsLp]

RcmVSãuVy]R£ &vOU j}¨]Rv

¨OvL¢ f}qOoLj]\ÿ]ŸOºV. Wv]fL

SNaScuVy]R£ mO¨]¤ CvpORa

j}¨OSkL¨OW¥¨LpOtt S^¡e¤

I¢Na]W¥ IuOfOW.

20  oOf¤ 23  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

4 yVSWL¡ v}fU.

20. j¤W]p]q]¨OÐ A¨Tº]UYV

Bwp°¥ We¨OWRt I°Rj

mLi]¨OÐORvÐV v]wh}Wq]¨OW.

m]y]jyV AyVf]f~ BwpU

CqŸ SqXRÕaO¾¤ BwpU

RkLqO¾RÕaO¾¤ BwpU

kP¡¹oLp Rvt]RÕaO¾¤

BwpU

21. RkLfOvLp S^¡es]¤ D¥RÕaO¾L

rOtt CakLaOW¥¨V jLsV

DhLzqe°¥ IuOfOW.

19.

Answer any three questions from

20 to 23. Each carries four scores.

20.

21.

(3 × 4 = 12) (3 × 4 = 12)
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22.

23.

22. KqO JWLUY v|LkLq]pORa We¨O

mO¨]¤ j]ÐOU WRº¾]p \]s

RfãOW¥ j¤W]p]q]¨OÐO.

CvpORa f]qO¾¤ S^¡e¤

I¢Na]W¥ IuOfOW.

qPkpORa kup l¡e]\ÿ¡

v]ãfV Ryp]¤yV mO¨]sLeV

SqXRÕaO¾]p]q]¨OÐfV.

kOf]p Rox]jr] òLk]¨LjL

p] R\svu]\ÿ qPk WPs]

Cj¾]¤ D¥RÕaO¾] Sv^yV

A¨Tº]¤ Rcm]ãV R\pVfO.

WOoL¡ SNaScuVy]¤ j]ÐOU 

qPkpORa yLij°¥ WaoLp]

vL°]pfV Wo¤ SNaScuVy]R£

A¨Tº]¤ RNWc]ãV R\pVfO.

Daoò¢ y~WLq| Bvw|°¥ V̈

m]y]jô]¤ j]ÐOU 

qPkpORa yLij°¥ IaO¾fV

S^¡es]¤ SqXRÕaO¾]p]Ÿ]sæ.

23. KqO mLs¢yV x}ã]¤ v]v]i

Cj°Rt NWo}Wq]¨OÐf]jOtt

(oL¡xs]°V) qºV q}f]W¥

DhLzqeU j¤W] v]wh}Wq]¨OW.
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24  oOf¤ 29  vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹¾]jV D¾qRouOfOW.

5 yVSWL¡ v}fU.

24. SYLkLs]R£ mO¨]¤ qL^R£

A¨TºV fáLrL¨], j¤W]p]q]

¨OÐ CakLaOW¥ kf]\ÿ V  fOa¡

oLyR¾ NkLqUn j}¨]p]q]ÕV

WºOk]a]¨OW.

 oL¡\ÿV qPk.

qL^j]¤ j]ÐOU sn]¨LjOtt

fOW

qL^jV Wa¾]¤ yLij°¥

v]ãfV

qL^¢ yLij°¥ oa¨]

j¤W]pfV

qL^j]¤ j]ÐOU keU sn]\ÿfV

25. j¤W]p]q]¨OÐ CakLaOWt]¤

j]ÐOU  ^jOvq] oLyR¾

CqŸS¨LtU WLxV mO¨V

fáLrL¨OW.

^jOvq] qPk.

RRWvwoOtt keU

mLË]sOtt keU

RqL¨U ke¾]jV yLij°¥

vL°]pfV

qLS^x]jV R\¨V j¤W]pfV

Answer any five questions from

24 to 29. Each carries five scores.

24.

25.

(5 × 5 = 25) (5 × 5 = 25)



FY 49

26.

KLl}yV Bvw|¾]jV mLË]¤

j]ÐOU keU k]¢vs]\ÿfV

WPs] RWLaO¾fV

yLij°¥ RqL¨U ke¾]jV

v]ãfV

SoLzj]¤ j]ÐO sn]\ÿ

R\¨V mLË]¤ j¤W]pfV

R\¨]sPRa wÒtU j¤W]pfV

26. v]whLUw°t]¤ j]ÐOU 

Rs mLËV AjOqÆjÕŸ]W

fáLrL¨OW.

WLxV mO¨V mLs¢yV 

qPk.

R\¨V j¤W]pfV mLË]¤

yo¡Õ]¨L¾fV  qPk.

mLË]¤ j¤W]p R\¨V fOW

A¨Tº]¤ vqvV RvpV¨LjO

ttfV  qPk.

j]Sƒk¾]R£ ks]w kLyV

mO¨]¤ oLNfU RNWc]ãV R\pVffV

 qPk.

mLËV C¢xOr¢yV Nk}o]pU

Aa\ÿfV WLxV mO¨]¤

SqXRÕa¾LjOttfV  qPk.
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27.

28.

27. &jV AqO¦ SNaScuVyV

 qPkpORa Rox]jr] vL°].

Cf]jV  vL¡x]W j]q¨]¤

Sj¡SqXL q}f]p]¤ oPs|ƒpU

We¨L¨L¢ f}qOoLj]¨OÐO.

 jV Cf]¤ j]ÐOU 

qPkpV¨V vL°]p Rox]jr]

mO¨]sOtt v]spV¨V v]¤¨OÐO.

 jV  qPkpV¨V

kOf]p Rox]jr] vL°OWpOU

R\pVfO. j¤W]p]ŸOtt v]whLUw°

t]¤ j]ÐOU Bh| oPÐO v¡xR¾

Rox]jr] A¨TºV fáLrL¨OW.

28. oL¡\ÿV  jV AjO WaoLp]

 qPkpORa yLij°¥ m}j

pV¨V v]¤¨OÐO. ASf h]vyU

fRÐ NkyVfOf fOWpV¨Ott KqO

v]j]op m]¤ AjO fáLrL¨], m}j

y~}Wq]\ÿV f]q]RW j¤WOÐO. oL¡\ÿV

 jV CT m]sæV AjO mLË]¤

 vL¡x]W j]q¨]¤ c]yVWTºV

R\áOÐO. IÐL¤ keU j¤WLRf

m}j m]sæV j]qLWq]¨OÐO.

AjOv]R£ mO¨]¤ m]¤

CakLa]R£ S^¡e¤ I¢Na]W¥

IuOfOW.
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29. è}of]. yOÎLyV  qPk

oPsij j]SƒkvOoLp] JNk]¤ 

 jV KqO WP¥mL¡ BqUn]\ÿO.

IÐL¤ CqŸ SqXRÕaO¾¤

q}f]p]¤ òLkj¾]R£ We¨OW¥

yPƒ]¨OÐ]sæ. jaÕV v¡xU 

qPk Ai]W oPsijoLpV RWLºO

vqOWpOU   qPk y~WLq|

Bvw|°¥¨V m]y]jy]¤ j]ÐOU

k]¢vs]¨OWpOU R\pVf]ŸOºV.

oL¡\ÿ V  Rs AvqORa

yLÒ¾]W ò]f] fLRu

j¤W]p]q]¨OÐO.

(qPk)

BRW RNWc]SãuVyV

mLËV vLpVk

BRW RcmVSãuVyV

l¡e]\ÿrOW¥

yVSãL¨V

RRWvwoOtt keU

mLË]sOtt keU

yOÎLy]R£ m]y]jô]R£ Bh|

v¡xR¾ sLnU/jxVaU, ijWLq|

kŸ]WLq}f] DkSpLY]\ÿ V

WºOk]a]¨OW.

29.
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Answer any one question from

30 to 31. which carries eight

scores.

30.

30 DU 31 DU S\Lh|°t]¤ JRfËsOU

KÐ]jV D¾qRouOfOW. 8 yVSWL¡ v}fU.

30. j¤W]p]ŸOtt Nap¤ mLs¢yV,

Ai]W v]vq°¥ IÐ]vp]¤

j]ÐOU m]y]jô]R£ v|LkLq

sLn&jxVa We¨V mLs¢yV x}ãV

IÐ]v fáLrL¨OW.

–Rs Nap¤ mLs¢yV

A¨Tº]R£ SkqV Rcm]ãV (qPk) RNWc]ãV (qPk)

W|Lk]ã¤

Rox]jr]

RcmVSãuVyV

SNcLp]°VyV

k¡S\ÿpVyV

Ryp]¤yV

RNWc]SãuVyV

(1 × 8 = 8) (1 × 8 = 8)
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Ai]W v]vq°¥:–

SWæLy]°V yVSãL¨]R£ oPs|U

j]wV\p]\ÿ]q]¨OÐfV 

qPk Bp]ŸLeV.

WOa]ê]W Sv^yV  qPk.

Rr£V oO¢WPŸ] j¤W]pfV 

qPk.

W]ŸL¨aoLp]  qPk

We¨]RsuOfeU.

yUwpLyVkh Wa¾]jOtt

WqOfsLp] RcmVSãuVy]R£ 

oLã] RvpV¨eU.

m]¤yV Skpm]¥

Sv^yV

y¦Na] IWVyVRk¢yOW¥

Rr£V B¢cV aLWVyVyV

WLSq V̂ C¢Sv¡cVyV

WLxV

KÕe]°V yVSãL V̈
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31. vL¡x]W ijWLq| kNf]WW¥

wq]pLp sLn&jxVa°tOU yLÒ¾]W

ò]f]pOU WLe]¨OÐORvÐV

DrÕOvqO¾OÐf]jLp] yLiLqe

pLp] kq]Ye]S¨º j}¨OSkL¨O

Wt]¤ JRfË]sOU  I¹U

v]whoL¨OW.

(yP\j : v]v]i j}¨OSkL¨OWtORa

S^¡e¤ I¢Na]WtOU Cv I°Rj

vL¡x]W ijWLq| SqXWt]¤

D¥RÕaO¾ORoÐOU j¤SWºfLeV)

31.

Hint


